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BLM 7-5 Section 7.2 Extra Practice

3.a)x=.E byx=3 ¢)x=3 : 0 1
2 \
5 2 0
4da)x==x1 D)x=-3,x=2 ) x=-=, x=1 \ 4 1
3 6 | 2
x—-2,iffx=2 2x+2, ifxz-l g\ 3
. Sa)y= . y= .
—x+2, ifx<2 2x-2, ifx<—1
Section 7.4
1 1 x—3
lL.ay — B4 ¢y — d
) 3 ) )2x ) S5x

2.a)none b)x#2 ¢yx#x1 dyx=-2andx#~I

Jayx=3andx= —g; both solutions check

b) x = 2 and x = —4; both solutions check

¢)x =-5 and x = 1; solution x = —5 is extrancous

d) x =1 and x = 0; both solutions check

da)y=E+1 +2ory=x"+2x+3
by y=—x"+2x+8 c)y=x2~4x+4

5. Let each denominator equal zero and solve the
resulting equation. Each solution is a non-permissible
value for the rational expression.

Nbﬁdl}"BLM 7-4 Section 7.1 Extra Practice

mvronce

1. 2)42 b)83—2 €)3.75 d) 1%

2.2){=3],1-3.9],{-41,|-4.1], |- 4.5]

o alls-silel
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(continued)
AT ) 2x+2) -8, ifx<—4orx>0
i ¢ -
: “2(x+20 +8, if —4<x<0
-+
gy yo | 2EEIE D, 3<r <l
NER RS 20 43)x -1y, ifx < ~3orx > 1
) i [
\ ' 1 S 6. a) A(x) and A(x) b) all
x-intercept: (—zm 0)' y-intercept: (0, 1); e) g(x), h(x), and k(x) d)all
domain: {x [ x € R};range: {y|y=20,y R} 7. a) all points where x = 3 b) (0, 0)
by R T T T T T ¢) all points where -4 < x <0 d) all points ‘ 6 ,
N i rd
mhNE 1”74 g BLM 7-6 Section 7.3 Extra Practice e
1'1., t: T l.a)yx=-3 orx=1 b)no solution
N SR Ox=22 d)x—0
- ANRENNE 2

Z.a)yes b)no c)yes djyes

domain: {xleR}grange {y|y>0yeR} 3.a)x=% b} no sohution e)x=5 d)yn=§8
A 4.a)x=1:t\/5andx:1
b)x=4and x=-]
/ ¢)x=2andx=-8
/
/ d)x=1ﬂ:1/i,x=l, andx = >
5 | - \ / 2 2 2
Ll \; S.a)x=-"Sorx=5
x-intercepts: (—5 0) and (-1, 0), y-intercept: (0, 5); b)x = Zi, x=-1,x= f_], andx =73
domain: {x[xe R} range {y\ly>0 y € R} 2 2
by \ x=2,356 dx=1+2J2 andx=1
\‘\ 6.a)ves bYno ¢) yes d)no
\ 7.a)notpossible b)Y k=0, k>4
“%.\ cyh=4 d)0<k<4

8. Chloe. Mark’s solution is incorrect. 0 = {x + 4)(r — 3);
x=—4dorx=3 \

y
\\ 9. a) Rearrange the equation | -x* +2 f— % =0 fo
. l—x? +2| = 1. The graph f(x) = i is the right side
-t i . .
y-intercepts: (?,0] and (3, 0); y-intercept: (0, 3); and g(x) = I“x +2] is the left side. f(x) (x) at the
d > points of intersection, The intersection points are the
omain: {x | x, / R}; range: {y 720,y } solutions to the equation.
5,;"4_1 T \ b) The solutions are 1.19 and 1.69,
S5.a) y=

L5y 1 ifx<-t
5
ml B
—x+4, ifx<§

b) y= .
E)C—‘I-, ifx>8
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(continued)
O[T I IMN_ AT, f_ 6.a) )
L el / . :
P A1
e
o _\4 CT
W DN 1 Z b x g . W
ml EEAND i two solutions because there are two intersection
(~1,2) and (4, 7) points

Ul " f?‘ j b)

infinite number of solutions because the two graphs
are the same

OV

\ A ffﬁ

: \ no solutions, or zero solutions, because the two
(3, 0) and (0, -6) _\/\ M graphs do not intersect
Dl AT AT F,?BLM 8-4 Section 8.1 Extra Practice
EN\EEnRn i 1. Point (1, -3):
BRI //_.____,. ' LS =x*-4dx—y RS=0
EREAWNNL VAN SN = (1)~ 4(1) - (-3)
S O AN 7 _ =0
RERVRI NI NI W LS=RS
i LY L : [S=x-y-4 RS=0
9 =1-(-3)-4
@.2and (-3,) i
LS =RS

Therefore, point (1, —3) is a solution.

7
”\”0\//
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Point (4, 0):
LS=x-4x—y RS
= (4)" - 4(4) - (0)
=0

It
(=1

LS =RS

IS=x-y-4 RS
=4—(0)-4
=0

LS=RS

Therefore, point (4, 0) is a solution,

2. a) (-2, —4) and (0, 0);

y=x +4x

y=-x

b) (-1, 2) and (-4, 8);

y=2x"+8x+ 8

y=-2x

3.a)(2,-3)

1
o)

(T T
SRR B o 2T R

b) (3, —4) and (7, 0)

¢) no solution
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(continued)

d) (-1, 8) and (0, 1)

( ] .'".

4. 2) (-2.50, -1.75)
SRR YA A,

aad 2 PP
g 7
xntar's-t-:ti-:-n} ;
n=-gE

L e

N\
b) (1.00, 2.00) and (9.00, 154.00)

©) (-0.50, 11.25) and (1.67, 2.22)
- : =~

d) no solution

i
il

\



5. 78 items, or $195

S :.."_r'.-E.l:IF --E"_I:I. -'|'=155.:_|.E|F~|';l. - |
6. a) x = Max’s age: x + y = 35

v = father’s age: x* + 5 =y
B e )

.Iﬁ'-"kﬂi.'ii:i:.if-.ﬁ" ey
L j

The two solutions to the system are (-6, 41} and
(5, 30). (-6, 41) is not meaningful because Max
cannot be —6 years old.

¢) Max is 5 and his father is 30.

. BLM 8-5 Section 8.2 Extra Practice

1. Point (-1, 11}

LS =2x+y RS=9
=2(-1) + 11
=9

LS =RS

L8=2x"-dx-y RS=-3
=2(~1 - 4(-1) - 11

LS=RS

Therefore, (~1, 11) is a solution.

Point (2, 5):

LS=2x+y RS=9
=2(2)+5
=9

1S =RS§

LS=2x"—4x -y RS
=202 - 4(2)- 5
= =5

LS =RS

Therefore, (2, 5) is a solution.

Il
!
A

(continued)

2. Point (—1, —4):

LS=y RS =x*+2x -3
=4 =(-1+2(-1)-3
=-4
LS =RS
LS=y RS=—?-2x-35
=4 = (=1 = 2(-1)-5
=—4
LS =RS

Therefore, (~1, —4) is a solution,
3.8)(3, 7)and (4, 9)

Verify:

Point (3, 7)

LS =y RS =2(3) + 1
=7 =17

LS=RS

LS =y RS = (37 —~5(3) + 13
=7 =7

LS=RS

Therefore, (3, 7) is a solution.

Point (4, 9)

LS=y RS =2(4)+ |
=9 =9

LS =RS

LS=y RS =(4)" - 5(4) + 13
=0 =9

LS =RS

Therefore, (4, 9) is a solution,

b) (‘—3 ‘l) and (2, -2)

272
Verify:
-3 17
Pomt(?,—)
_ -3 17 _
LS—(3)(7)+ﬁ2_-4 RS =0
-9 17
Tyt
LS =RS
(=3 (=3 17y _
Ls_(z)(j) (4)(15) (2) 2 RS=0
18 24 34 8
BRI i Ea
=0
LS =RS

Therefore, (";’ lzzj is a solution.,

\\
S

A

=
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Point (2, -2):

LS=3(2)+(-2)- 4 RS =0
=0

LS =RS

LS = 2(2)° — 4(2) - (=2) ~ 2 RS=0

LS=RS

Therefore, (2, -2) is a solution.

¢} (-4, 10) and (2, 4)

Verify:

Point (-4, 10)

LS=y RS = —(-4Y - 3(-4) + 14
=10 =10

LS=RS

LS=y RS =3(-4) + 5(-4) — 18
=10 =10

LS =RS

Therefore, (—4, 10) is a solution.

Point (2, 4)

LS =y RS=—(2)"-3(2)+ 14
=4 =4

LS=RS

LS=y RS =3(2)*+5(2) - 18

=4 =4

LS =RS

Therefore, (2, 4) is a solution.

d) (5, 0) and (-2, 7)

Verify:

Point (5, 0)

LS=4(5)+0+5 RS=5
=25 =25

LS=RS

LS=5% RS = 5(5) + 2(0)
=25 =25

LS =RS

Therefore, (5, 0) is a solution.
Point (-2, 7)
LS=4(-2)+7+5 RS=(-2)

=4 =4

LS =RS

LS =(-2) RS =5(-2) + 2(7)
=4 =4

LS =RS

Therefore, (-2, 7) is a solution.

4. a) (— , ?) and (%, %Q) b) no sohution
€} (0,2) and (3, 15) d) (“T’ fg) and (5, 0)
5.1) (3, 18)

) (~1.62, ~0.21) and (0.62, 0.54)

6.a) k=7 b)(0,-7)

{continued)

T.a)k>-4 byk=-4 ¢ k<-4
8.a)y=—1(x+4¥ +4andy=(x— 1 -9

b) (-2, 0) and (-1, -5)

9. a) perimeter: 2(3x) + 2(x + 5) =y

area: (3x)(x + 5) =3y

b} (5, 50) and (-2, - 6)

¢) The only possible solution is (5, 50). You cannot
have a negative perimeter or area.

d) x = 5; perimeter = 50; area = 150 units?

BLM 8-6 Chapter 8 Test

LA 2B 3B 4D 5A 6{-58),(0,3)}
7. Example: An object is released from a launcher on
the ground, and a person standing on a platform
throws a ball, trying to hit the object with the ball,
8. Example: qy = a(x* + 6x - 5),a e R
9.2)LS=2x"+x~7 RS =y
=2(3"4+3-7 =14
=14
LS=RS
L8=3x+y-23 RS=0
=3(3)+14-23
=0
LS=RS
b) (-5, 38)

5 1
10.(-3.2). (3.1)
1L.aym=5k=2 b)k=8 m=2
12.a)ytwo by k=4ork=10
¢) (5.43, 1.08) or (-1.43, 1.08)
13, a) /7 T

R

{(4.3,6.8), (21.7,-177.3%}

b) The coordinates represent where the two streams
of water meet. However, only the (4.3, 6.8) solution
makes sense because the distance cannot be negative
in this context.

14. a) perimeter: 2y = 4x — 26;

area: 3y — 9 =x* — 13x + 36
b)yx=7andy=1,orx=12andy=11

¢) Substituting 7 results in a negative dimension,

so x must be 12. The dimensions are § units and

3 units.

d) perimeter: 22 units; area: 24 square units




